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* The printed text gives “ave per ave illud concipiens,” in place of which I have restored the line’s traditional reading.
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      ™    

          ™    

     

        ™ 
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ri fi- cat- om nis- - cre a- tu- ra- ma trem- lu -


‹




‹










‹




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


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  ™         

   ™       ™         

            ™ 

        ™      

           

          ™     

 ™          

        

        ™    
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B
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nis al le- - lu ia,-
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nis>- al le- lu- ia,-
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



 ™       ™ 

 ™             

      ™     

           

          ™    

           

 ™            

       ™    

   ™           

            
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°Û

¢Û

°Û

¢Û

T1

T2

Bar1

Bar2

B

lu- ia,- - - - <al - le lu- ia,>-

98

<al le- lu- ia,>- al le- lu- - -

lu- ia,>- al - le lu- -

ia, [al le- lu- ia,]- <al le- lu- - -

<al le- lu- ia,- al le- - lu -

T1

T2

Bar1

Bar2

B

al le- lu- ia,- <al le- lu- ia.>-

102

ia, <al le- lu- - - - ia.>- -

ia, [al le- lu- - ia,]- - <al le- lu- ia.>-

ia,- al le- lu- ia.>- -

ia, al le- - lu- - ia.>- -











 

 

 

 

 


‹




‹










‹


* 


‹

 

 

 


* Meter change added to realign tactus.



    ™         

        

            

  ™           

           

          

   ™      

          

      

      
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